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(English Version)

Instructions :

(1)
(it)

(ei)

(iv)
(v)
(vi)

(vii)

Write the correct answers of the following questions

First 18 minutes are allotted for the candidoes ' read the question paper
All questions are compulsory.

Questions No. 1 to 8 are Multiple Choige Type Questions. Questions No. 9 to 16 are
Very Short-Answer Type Questions, g be answered in about 20 words each,
Questions No. 17 to 22 are Short-Answer Type Questions, to be answered 1n about 30

words each and Questions No. 23 and Y are Long Answer Tvpe Questions, to bhe
answered in about

! 150 words each. Ml'nn.«' No. 25 and 26 are Map-related
Questions.

Marks allotted to all the questions are méiioned against them.

Hllustrate your answers with suitable skesh maps and diagrams.
Tear off the supplied map

‘ s from the question paper, indicate answers on them and
compulsorily attach them firmly to your answer-book.

For visually-impaired examinees, que

ally stions have been given separately
answers in lieu of map-work,

for writing

(Multiple Choice M Questions)

in your answer-book :

1. Which one of the following concepts of buman geography believes in the supremac v
of nature ? !
(a) Neo-Determinism
(b)  Possibilism
(c)  Environmental Determinism
(d) Positivism
2. Which one of the following is the most populated country 2 i
(a) Indonesia (b) Pakistan
(c) Bangladesh (@ United States of Americy
3. Which one of the following is not an appro:ich to Human Development * ;
(a) Income approach (b) Welfare approach
(c)  Health approach (d) Capability approach
4 Which one of the following cities is not located on the Tran-Siberian Railway
route ? I
(a) Moscow (h) Omsk
(c) Chita (d) Tomsk
322 (EL) 5 PTO



10.
11,

12.
13.
14.
15.
16.

17.
18.
19.

20.
21.
22.

states f India i e

In which one of the following

highest ? (b) Karnataka

(a) Andhra Prades? @) Tamil Nadu

() Kerala . Gtates of India hag the largest urban population ?
Which one of the following (b) Maharashtra

(a) West Bengal (d) Uttar Pradesh

(¢) Tamil Nadu

Which one of the following States is POt related with the production of mineral

ol ?
(a) Assam
(¢) West Bengal

I‘,{b) Gujarat
(d) Rajasthan

Which one of the following sea ports is located on the eastern coast of India ?

(a) Marmagao (b) Mangaluru
(¢) Haldia (d) Tuticorin

(Very Short-Answer Type Questions)

What is meant by ‘Humanisation of Nature’ ?

Mention two measures of controlling population.

Mention two crops of plantation agriculture.
Define ‘Cyber Space-Internet’.

Mention the main categories of working popylation of India.
Define clustered settlements.

Mention the main land-use categories in India.

Mention two causes of water pollution in India.

(Short-Answer Type Questions)

Mention the factors affecting the distribution of population.
Mention the main areas of commercia! dairy farming in the world.
Describe the importance of satellite cO™munication.

Describe the changing pattern of the “®Mposition of India’s exports.

Describe the nature of air pollution i lndia.

Describe the characteristics of Drovg™ Prone Area Programme in India.

322 (EL) 6
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(Long-Answer Type Questions)

23.  Discuss the components of population change-

6
OR
Discuss the importance of air transport. 6
24.  Describe the characteristics of rail transport in India. 6
OR
Describe the production and distribution of iron ore in India. 6
(Map-related Questions)
25.  Show the following by suitable symbols in the given outline map of India
(on Page 9) and write their names also :
(1)  The State with the second largest population in India. §+é
(i)  An important sea port of Gujarat. -;_+£
(iii)  An oil refinery of this State. _;_ ,,.zi
(iv) Capital city of Arunachal Pradesh. é*.%
(v)  An important coal mine of Madhya Pradesh. é +%
Only for visually-impaired examinees in place of Question No. 25 :
Instructions : Write the answers of the following questions in your answer-book.
Do not use the map.
(i)  Write the name of the State with the second largest population in India. 1
(i)  Write the name of an important sea port of Gujarat. i
(iii) Write the name of an oil refinery of this State. 1
(iv) Write the name of the capital city of Arunachal Pradesh. 1
(v)  Write the name of an important coa] mine of Madhya Pradesh. 1
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26. Show the following by suitable symbﬂls in the given outline map of the World

(on Page 11) and write their names 215¢ -

(1)  Country with the largest population (in 2023) in the world. é +
(ii)  Capital city of Japan. é +
(iii) Animportant sea port of South-E4st Asia. ;’ +
(iv)  One important river of North Am rica, ; +
(v)  Country in Europe with the highest Human Development Index E2019}. é+

Only for visually-impaired examinees in place of Question No. 26 :

Instructions : Write the answers of the following questions in your answer-book.

Do not use the map.

() Write the name of the country with the largest population (in 2023) in the

world.
(i1)  Write the name of the capital city of Japan.
(iii) Write the name of an important seq port of South-East Asia.
(iv)  Write the name of an important river of North America.

(v)  Write the name of the country in Europe with the highest Human

Development Index (2019).
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